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Two Left Shoes
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I.He's got  two left shoes  and dir - ty feet
2.He's got  holes in his shoes, his feet al-ways wet.___
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He's got no-thing to lose__ he can't__ make ends meet __
3 Want ing to make a change____ but its not hap pen ing yet___
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He'll ne - ver get a - head__ be cause he can't-make a  buck. _
5 A Ly ing down on the ground but al ways get ting back up.___
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Two Left Shoes
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Two Left Shoes 3
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20 [ don't know  where I'm go - ing but___ it's gon - na be o - kay___ Oh,
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Two Left Shoes
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Two Left Shoes
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by WO left shoes and no thing to lose__ but he will find his__ way____ He's
o)
b’ 4
y 4N Ll
[an)
ANV
g 5 =
K X,
| — °
u _g
30 ~
i‘iz ‘ ‘ ‘ ‘ o I d I
30 down on his luck__ he can't make a buck but it will shine to__ day._
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